Worksheet - Real life division problems

Answer the following functional division problems without using a
calculator.

An office worker earns £3.90 an hour. Last week she earned

£50.70. [

How many hours did she work?

A farmer wants to plant 216 lettuces in 24 rows.
How many lettuces will he plant in each row?

A shopkeeper earns £28800 a year. ]—
How much does he earn per month?

A shopkeeper earns £31200 a year.
How much does he earn per month?

13 friends win £2600 on the lottery. They share the money o
equally between them. [
How much do they each recieve?

A shopkeeper earns £16800 a year. ]
How much does he earn per month?

A shopkeeper earns £31200 a year. [7
How much does he earn per month?

A plumber earns £288 a day. Last month he earned £3456. ]—
How many days did he work?

11 friends win £9900 on the lottery. They share the money o
equally between them. ]
How much do they each recieve?

A television priced at £550 is paid for in monthly installments of I—
£50. How many monthly payments are needed?
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